Scanned by CamScanner




" www.Padasalai.N
2 www. TrbTnpsc.com X1t

i~ T 2} then find A
12. If adj (ad] A) = L0 1) then find A.
LH it S
141 1-1
13. Simplify : (fl—iJ -(——-—1”) into rectangular form.

| 14. Find the square root of -5 - 2i
f ~ 15. Construct a cubic eauation whose roots are 1,1, -2.
PART - IIX

er any three questions.
tion number 20 is compulsory.
B T e K

i 16. Find the rank of matrix g S 4 by row reduction method.
L5 -1 7 11|

a vertex (_)f square in a argand plane; then find the other vertices.
mination, one mark is awarded for every correct answer
ed for every wrong answer. A student answered 100
ks. How many questions did he answer correctly? (Use

Note : i) Answ
ii) Ques

17. Ifz=1+ibe
18. Ina competitive exa

while & mark is deduct
questions and got 80 mar
Cramer’s rule)

19. Obtain the condition that t

20. Show that the equation z? N

he roots of x> + px2 +gx+r=>0arein A.P.

_ o has five solution.

PART - IV ,
4x5=20

Note: AnsWer all the questions.
21. Four men and 4 women can finish a piece of work jointly in 3 days while 2 men
4 days. Find time taken by one

and 5 women can finish the same work jointly in
man alone and that of one women alone to finish the same work by using matrix

inverson method. (OR)

Find the value of k for which the equation kx - 2y +

x-2y+kz=1 have i) No solution ii) unique solution

iii) Infinitely many solution.

22. By using Gaussian elimination method, balance the chemical reaction equation
CgHg + 0, ~» CO, + HO: - - ; (CR)

2=1,x-2ky+z=-2,

2z +1
£2 "~ 1 =0, show that the locus

Ifz=x+1y is a complex number such that Im( a

of Z is 2x* + 2y2 +x -2y =0.
(OR)

'*fjcb526'+ isin26, show thatz = i tand

e:23+64=0 §
., B,y are the roots of the cubic equation 3+ 2x2 + 3x + 4 = 0, form a cubic

1118

,,j,. oseroots are o $ B { Y ,_j.:'

(OR)

@“mbeﬁsaﬂsfvmo 4 3 2"*2).+ 2%= 0.
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